ENREES —"1' —’]—LUEE 1-]—8':[5_“‘:'%]:1'—'_013%”’1—‘—13?
o -2 59| ool Hlzh1: 3 ole}

4% o] Ag=
120g & THEAH. 4% o A=Y}
“Fatol =t

g, ¥ #2229 Fe

B e g



2.

21% ° A53=7 12% 9
=t} 21% ¢ 12% 9]
“Fatozt,

Yk g
B e g

T
a3

o
=2 4
[}
227t



TR AR OE T R AFE A, B 7Y A & 100kg, B
£ 200kg 510 =71 9% Q1 £A83E°] HlaL A & 200kg , B &
100kg A2 5E7t 5% ¢l AgE°] Hrh o]l F &AF= A, B 9

FEE otk
S EE %
a‘é"IB: %






S otdE o gas Teol 1 Frg S48 2Y 19em® o]
7 155.8g ©I9AT. F3F obqlo] 23] 1em® T 2424 ] £7= 8.9¢
L

I 7g oAtk a0 i ofA L] FAE ZH2t A2 oo
B e g

B e g



A= FYE 15% , FAL 15% ZF HFol1l, B = 182 10%
, TS 30% ESH gFoltt. o] F FF9] EE 594 e
250 g, TS 450 g TRF AT CEUENT A, B=22 2 g

% B o] At Lotolel,
> k=R g
B = g



A, B E59] gFo] gliu A = 5ol 60% , otele] 30% o], B

5ol 50% , obdle] 45% oItk o] & FFe] TS 4ol Fol dkg
okelo] 3kg ol Gt TFE WEeW BE Anht 4lojof shex
stoler,

B e kg



Az o] 742}
H7A A B

il
oo
B o
o
m P
= o
t .
A
1y
= W
=
M
<7
e
!
T or
m_m )
Wl
Mo o
HE o
A ol
s
op &
T

=

e

=0

te 5

°

/)

fet.

&

(
500
800

o

i

e
o]

271 (7h)

% ()
3

HAA
H71B

1]

L=

H
H

kel

gl o] 450 7, 2717} 260 7N

1

—

-

‘l_

a
-

=
=



AE A 9B 9 g i Y7k Z42F 300 €, 150 Yolth. A AR
A7) 60%, B &S ¥7H2] 20% 2] o]ejo] Aitty & ufj, A 9} B
AFE-S 9s51e] 100 71E 2Ty 9000 €2 o]ejo] AL A AFES
2 7l "ofeA] Fstei et

> R 7

l

I



